






q=92

DADSM 2012
Epreuve d'écriture

Texte alterné de Bernard de Crépy





               
                
                   


0
0

 0    1 2 5 3 6 ª2 6 3 3


6

5
5 6


5 5


7 56
  6 2 6 2





                      

                       
                      


6 46 ü7  5


7


ü 64 6


ª4
3 

46
ü 4


6ª


56


5


56 5 56 5 7 ü7 7 7

 46


5


6











   
mf

  
                

p

                    
                


6


56 5
                   

molto rall. 



 
f

                 
pp

  
               
                
                


